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yazt 4,208.5 267.0 76.5  2,927.3 46.5  2,348.0 532.8 518.8 418.0 1.0 11,279.5  3,095.5 84.95 75.60
ZALH T AR 908.3 58.5 20.0 667.5 10.0 507.0 150.5 101.8 58.5 2.0  2,054.0 589.5 86.77 75.12
AR T AR 303.8 16.5 4.0 218.0 3.0 166.0 49.0 36.8 28.5 - 683.5 201.0 85.57 73.59
Bk AR 545.8 34.0 18.5 324.0 7.0 278.0 39.0 79.3 90.0 - 1,378.5 417.0 80.35 73.56
PR T 7ERE 348.8 17.5 8.0 263.0 5.5 187.0 70.5 36.8 23.5 - 989.0 248.0 87.74 77.50
BT T R 165.3 12.5 3.5 121.0 3.0 79.0 39.0 22.3 6.0 - 436.0 129.5 84.47 73.97
B SR T AR 62.3 4.5 2.5 47.5 - 33.5 14.0 7.8 - - 240.0 52.5 85.97 81.04
=i )5 AR 509.5 33.5 7.5 362.5 3.0 290.5 69.0 53.0 53.0 - 1,336.5 312.5 87.24 79.69
FERE T AR 63.3 5.0 - 39.0 1.0 36.0 2.0 7.3 12.0 - 198.5 65.5 84.32 69.52
LM T R 131.5 7.5 2.0 109.5 - 67.5 42.0 .5 6.0 -1.0 463.0 113.5 93.59 77.54
T T AR 56.5 4.0 - 44.0 0.5 39.0 4.5 4.0 4.5 - 245.5 59.5 91.67 77.39
EEMIT AR 116.8 8.0 - 78.5 1.0 74.5 3.0 16.3 14.0 - 362.0 82.5 82.85 79.42
2T ER 267.0 22.5 2.5 198.3 3.5 153.5 41.3 35.3 8.5 - 759.5 224.0 84.90 73.80
e T R 351.8 15.5 1.5 226.0 1.0 224.0 1.0 56.8 52.0 - 625.5 160.0 79.93 77.14
TEUE N 7 2R 31.0 3.0 1.0 16.0 2.0 14.0 - .5 5.5 - 279.0 103.0 74.42 64.52
S5 LR 30.0 2.5 - 19.0 - 19.0 - 4.0 4.5 - 234.5 37.0 82.61 85.29
R T AR 72.8 6.0 1.0 38.5 1.0 36.5 .0 13.3 14.0 - 314.0 71.0 74.40 79.62
EE T ER 34.5 5.5 1.0 27.0 - 22.5 4.5 1.0 - - 79.0 30.5 96.43 69.62
L TT AT 63.0 2.5 - 44.5 1.0 43.5 - 11.0 5.0 - 168.0 62.0 80.18 64.58
E M T R 75.8 4.5 .0 42.0 2.0 40.0 - 10.8 15.5 - 197.5 67.5 79.62 69.62
Rl 7 AR 67.0 3.5 0.5 38.0 2.0 33.5 2.5 8.0 17.0 - 204.0 61.5 82.61 71.81
B T AR 4.3 - - 3.5 - 3.5 - .8 - - 32.0 8.0 82.35 75.00
7 AR IR (%) -1.77 -19.94 -28.50 -1.39 10.71 -4.24 12.28 2.32 14.36 -66.67 -3.40 -7.04 -0.47* 0.35%
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